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MATH 113 - QUIZ 4 - 25 SEPTEMBER 2012

Answer all of the following questions in the space provided. Show all work as partial

credit may be given. Answers without justification, even if they are correct, will earn no
credit.

L. (5 pts.) Assume that li_)ng(?x —1) = 5 (see the graph). For the value of ¢ = 1, find a value
of 6 > 0 such that fézﬂ?—i%}—%—ée whenever O~<—r—2}<-$-
ex-D-§1<e o <(x-31<G
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Yye(4,6). Byt X€ @ &3,9) s HY Saumt ag . [X—2] < 5

2. (5 pts.) Let f(z) =322 — 5z, and let a = 3.

(2) (3 pts.) Find f'(a) by computing the limit of the difference quotient. Do not use any
shortcuts you may be aware of.
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(b) (2 pts.) Find the equation of the tangent line to the graph of f(z) at a.
(a,£@= R&,6)= (3,1 |
t9uw ofF \Lemgm\[ Wie: y-12=0 (%=3)
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Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justification, even if they arc correct, will earn no
credit.

1. (5 pts.) Assume that hm(?r 1) = 5 (see the graph) For the value of € = 2, find a valu
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2. (5 pts.) Let f(z) =+/x 1, and let a = 3.

(a) (3 pts.) Find f'(a) by computing the limit of the difference quotient. Do not use any
shortcuts you may be aware of.
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(b) (2 pts.) Find the equation of the tangent line to the graph of f(z) at a.

(a, L@y = @,F6D=(3,2)
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Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justification, even if they are correct, will earn no
credit.

1. (5 pts.) Assume that lim(2z — 1) = 5 (see the graph). For the value of € = 3, find a valu
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2. (5 pts.) Let f(z) = = and let a = 2.
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(2) (3 pts.) Find f’(a) by computing the limit of the difference quotient. Do not use any
shortcuts you may be aware of. l @ l
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(b) (2 pts.) Find the equation of the tangent line to the graph of f(z) at a.

(a $@)= (% +D) = (1) ‘
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